
φE

　85
162

B LKJ

20
40

12
25SWT100

SWT 50

Part Number

　50
100

A

φ
F

（g）NM

1,100
18015

25
2825

50 50

D E

20
36

G

12
25

F

16
32

H

Hex. Socket Setscrew
M

H

ADJUSTABLE TIGHTENERSSWT

Hex. Socket SetscrewJ
K N

B
A

φD

G

L

Weight

C

C

M5×0.8 - 8L
M8×1.25-14L

M 6×1  -16L　
M10×1.5-30L

M10×1.5
M20×2.5

Body

Black
Powder baked finish
Cast iron（FCD450）

Reference
TENSIONER ASSEMBLY EXAMPLES




